APPENDIX 4 - Impact on Town & Parish Councils & The Charter Trust for the City of Durham 2025/26

Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2025/26	Band D Council Tax 2024/25	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2024/25	Parish Element of LCTRS Grant 2025/26	Net Position After Distribution of LCTRS Grant	Increase / (Decrease) Required in Band D Council Tax to Standstill	Band D Council Tax Required to Standstill	Increase / (Decrease) in Band A Council Tax Required to Standstill
	No.	£	£	£	£	£	%	£	£
Barnard Castle Town Council	15.0	114.00	1,710.00		0.00	1,710.00	(0.8%)	(0.90)	(0.60)
Barningham Parish Council	1.8	20.83	37.49	(226.00)	162.00	(26.51)	1.6%	0.34	0.23
Boldron Parish Council	1.9	6.77	12.86	(1.00)	0.00	11.86	(3.0%)	(0.20)	(0.13)
Bowes Parish Council	7.6	34.00	258.40		0.00	258.40	(4.1%)	(1.38)	(0.92)
Cockfield Parish Council	5.4	60.26	325.40	(3,136.00)	2,410.00	(400.60)	1.6%	0.96	0.64
Cotherstone Parish Council	4.7	54.73	257.23	0.00	0.00	257.23	(1.6%)	(0.89)	(0.59)
Eggleston Parish Council	8.0	46.42	371.36		0.00	335.36	(3.5%)	(1.61)	(1.07)
Etherly Parish Council	5.6	44.93	251.61	0.00	0.00	251.61	(0.8%)	(0.36)	(0.24)
Evenwood and Barony Parish Council	14.6	83.79	1,223.33	(2,871.00)	1,413.00	(234.67)	0.4%	0.34	0.23
Forest and Frith Parish Council	3.4	-	0.00	0.00	0.00	0.00	0.0%	0.00	0.00
Gainford & Langton Parish Council	2.1	73.72	154.81	(719.00)	484.00	(80.19)	0.2%	0.16	0.11
Hamsterley Parish Council	0.4	24.37	9.75	0.00	0.00	9.75	(0.2%)	(0.05)	(0.03)
Hutton Magna Parish Council	(0.9)	18.95	(17.06)	(59.00)	65.00	(11.06)	1.3%	0.24	0.16
Ingleton Parish Council	1.2	53.58	64.30	(191.00)	109.00	(17.70)	0.2%	0.10	0.07
Lartington Parish Council	(0.2)	27.31	(5.46)	(70.00)	65.00	(10.46)	0.6%	0.16	0.11
Lunedale Parish Council	0.6	5.89	3.53	(2.00)	0.00	1.53	(0.6%)	(0.03)	(0.02)
Lynesack and Softley Parish Council	1.2	29.75	35.70	0.00	0.00	35.70	(0.3%)	(0.08)	(0.05)
Marwood Parish Council	51.7	44.12	2,281.00	0.00	0.00	2,281.00	(14.3%)	(6.29)	(4.19)
Mickleton Parish Council	11.1	60.00	666.00	0.00	0.00	666.00	(5.8%)	(3.51)	(2.34)
Middleton in Teesdale & Newbiggin in Teesdale Parish Council	11.0	65.23	717.53	(126.00)	0.00	591.53	(1.8%)	(1.15)	(0.77)
Ovington Parish Council	0.0	32.80	0.00	0.00	0.00	0.00	0.0%	0.00	0.00
Rokerby, Brignall and Egglestone Abbey Parish Council	(2.2)	26.29	(57.84)	0.00	50.00	(7.84)	0.4%	0.11	0.07
Romaldkirk Parish Council	4.3	122.94	528.64	0.00	0.00	528.64	(4.2%)	(5.12)	(3.41)
South Bedburn Parish Council	2.0	15.00	30.00	(19.00)	0.00	11.00	(0.9%)	(0.13)	(0.09)
Staindrop Parish Council	3.8	48.96	186.05	0.00	0.00	186.05	(0.8%)	(0.39)	(0.26)
Startforth Parish Council	34.4	42.51	1,462.34	0.00	0.00	1,462.34	(6.4%)	(2.71)	(1.81)
Streatlam & Stainton Parish Council	2.8	51.91	145.35	(160.00)	13.00	(1.65)	0.0%	0.01	0.01
Whorlton & Westwick Parish Council	2.0	61.13	122.26	0.00	0.00	122.26	(1.6%)	(0.95)	(0.63)
Winston Parish Council	8.2	51.88	425.42	(279.00)	0.00	146.42	(1.3%)	(0.70)	(0.47)
Woodland Parish Council	3.9	43.21	168.52	(72.00)	0.00	96.52	(2.7%)	(1.17)	(0.78)
Bournmoor Parish Council	38.9	22.00	855.80	(137.00)	0.00	718.80	(4.6%)	(1.02)	(0.68)
Edmondsley Parish Council	6.7	59.27	397.11	(1,352.00)	819.00	(135.89)	1.5%	0.89	0.59

Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2025/26	Band D Council Tax 2024/25	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2024/25	Parish Element of LCTRS Grant 2025/26	Net Position After Distribution of LCTRS Grant	Increase / (Decrease) Required in Band D Council Tax to Standstill	Increase / (Decrease) in Band D Council Tax Required to Standstill	Increase / (Decrease) in Band A Council Tax Required to Standstill
	No.	£	£	£	£	£	%	£	£
Great Lumley Parish Council	(3.9)	68.52	(267.23)	0.00	229.00	(38.23)	0.1%	0.03	0.02
Kimblesworth and Plawsworth Parish Council	28.3	38.97	1,102.85	(560.00)	0.00	542.85	(2.2%)	(0.87)	(0.58)
Little Lumley Parish Council	1.1	22.39	24.63	(125.00)	86.00	(14.37)	0.1%	0.03	0.02
North Lodge Parish Council	25.0	31.53	788.25	0.00	0.00	788.25	(2.1%)	(0.66)	(0.44)
Ouston Parish Council	(0.8)	40.75	(32.60)	(17.00)	43.00	(6.60)	0.0%	0.01	0.01
Pelton Parish Council	(2.1)	127.15	(267.02)	0.00	229.00	(38.02)	0.0%	0.02	0.01
Sacriston Parish Council	62.2	45.91	2,855.60	(5,514.00)	2,280.00	(378.40)	0.6%	0.27	0.18
Urpeth Parish Council	43.7	38.77	1,694.25	0.00	0.00	1,694.25	(3.7%)	(1.44)	(0.96)
Waldridge Parish Council	(9.6)	48.12	(461.95)	(645.00)	949.00	(157.95)	0.2%	0.11	0.07
Bishop Auckland Town Council	39.4	92.23	3,633.86	(2,802.00)	0.00	831.86	(0.2%)	(0.19)	(0.13)
Dene Valley Parish Council	59.0	20.23	1,193.57	0.00	0.00	1,193.57	(6.5%)	(1.32)	(0.88)
Greater Willington Town Council	26.9	63.76	1,715.14	(897.00)	0.00	818.14	(0.7%)	(0.44)	(0.29)
Stanhope Parish Council	36.7	29.44	1,080.45	0.00	0.00	1,080.45	(2.2%)	(0.64)	(0.43)
Tow Law Town Council	20.9	87.61	1,831.05	(82.00)	0.00	1,749.05	(3.6%)	(3.15)	(2.10)
West Auckland Parish Council	(4.1)	36.89	(151.25)	(3,191.00)	2,866.00	(476.25)	2.0%	0.75	0.50
Witton le Wear Parish Council	5.6	26.84	150.30	(150.00)	0.00	0.30	0.0%	0.00	0.00
Wolsingham Parish Council	28.9	28.39	820.47	(444.00)	0.00	376.47	(1.3%)	(0.37)	(0.25)
Bearpark Parish Council	20.7	46.91	971.04	(1,011.00)	34.00	(5.96)	0.0%	0.01	0.01
Belmont Parish Council	29.9	36.87	1,102.41	(5,236.00)	3,545.00	(588.59)	0.5%	0.20	0.13
Brancepeth Parish Council	4.5	91.22	410.49	(239.00)	0.00	171.49	(0.8%)	(0.75)	(0.50)
Brandon & Byshottles Parish Council	9.3	44.88	417.38	(902.00)	416.00	(68.62)	0.0%	0.01	0.01
Cassop-cum-Quarrington Hill Parish Council	95.8	40.91	3,919.18	0.00	0.00	3,919.18	(4.8%)	(1.95)	(1.30)
Coxhoe Parish Council	66.1	111.87	7,394.61	0.00	0.00	7,394.61	(4.5%)	(4.98)	(3.32)
Croxdale & Hett Parish Council	(1.4)	58.57	(82.00)	(921.00)	860.00	(143.00)	0.8%	0.48	0.32
Framwellgate Moor Parish Council	9.0	36.81	331.29	0.00	0.00	331.29	(0.5%)	(0.17)	(0.11)
Kelloe Parish Council	0.9	46.94	42.25	(1,864.00)	1,562.00	(259.75)	1.7%	0.78	0.52
Pittington Parish Council	7.1	68.17	484.01	(182.00)	0.00	302.01	(0.9%)	(0.60)	(0.40)
Shadforth Parish Council	9.0	33.77	303.93	(73.00)	0.00	230.93	(1.1%)	(0.37)	(0.25)
Sherburn Village Parish Council	13.9	27.01	375.44	(1,339.00)	826.00	(137.56)	0.5%	0.14	0.09
Shincliffe Parish Council	(0.8)	76.97	(61.58)	(236.00)	255.00	(42.58)	0.1%	0.06	0.04
West Rainton Parish Council	34.3	54.39	1,865.58	(1,302.00)	0.00	563.58	(1.4%)	(0.74)	(0.49)
Witton Gilbert Parish Council	8.0	41.00	328.00	(453.00)	107.00	(18.00)	0.1%	0.02	0.01
City of Durham Parish Council	172.8	61.57	10,639.30	(8,436.00)	0.00	2,203.30	(0.8%)	(0.48)	(0.32)
Castle Eden Parish Council	0.6	31.99	19.19	(24.00)	4.00	(0.81)	0.0%	0.00	0.00

Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2025/26	Band D Council Tax 2024/25	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2024/25	Parish Element of LCTRS Grant 2025/26	Net Position After Distribution of LCTRS Grant	Increase / (Decrease) Required in Band D Council Tax to Standstill	Band D Council Tax Required to Standstill	Standstill .
	No.	£	£	£	£	£	%	£	£
Dalton-le-Dale Parish Council	(2.8)	27.93	(78.20)	0.00	67.00	(11.20)	0.1%	0.02	0.01
Easington Colliery Parish Council	1.9	319.38	606.82	(59,023.00)	50,097.00	(8,319.18)	2.3%	7.19	4.79
Easington Village Parish Council	6.3	180.00	1,134.00	0.00	0.00	1,134.00	(0.7%)	(1.22)	(0.81)
Haswell Parish Council	(1.4)	138.40	(193.76)	(9,103.00)	7,973.00	(1,323.76)	2.0%	2.77	1.85
Hawthorn Parish Council	25.1	51.17	1,284.37	(11.00)	0.00	1,273.37	(10.7%)	(5.47)	(3.65)
Horden Parish Council	(15.5)	374.10	(5,798.55)	(96,373.00)	87,621.00	(14,550.55)	2.3%	8.50	5.67
Hutton Henry Parish Council	7.9	93.11	735.57	(4,022.00)	2,818.00	(468.43)	1.2%	1.07	0.71
Monk Hesleden Parish Council	26.5	206.90	5,482.85	(35,622.00)	25,847.00	(4,292.15)	1.4%	2.84	1.89
Murton Parish Council	(3.3)	189.77	(626.24)	(39,706.00)	34,588.00	(5,744.24)	1.7%	3.18	2.12
Peterlee Town Council	47.5	380.61	18,078.98	(240,359.00)	190,624.00	(31,656.03)	1.8%	6.72	4.48
Seaham Town Council	54.5	269.38	14,681.21	(157,210.00)	122,231.00	(20,297.79)	1.6%	4.26	2.84
Seaton with Slingley Parish Council	1.4	28.01	39.21	0.00	0.00	39.21	(0.3%)	(0.09)	(0.06)
Shotton Parish Council	4.0	121.36	485.44	(327.00)	0.00	158.44	(0.1%)	(0.14)	(0.09)
South Hetton Parish Council	6.1	167.50	1,021.75	(14,215.00)	11,314.00	(1,879.25)	1.6%	2.67	1.78
Thornley Parish Council	2.0	263.20	526.40	(5,704.00)	4,440.00	(737.60)	0.4%	1.14	0.76
Trimdon Foundry Parish Council	1.8	182.38	328.28	(9,957.00)	8,257.00	(1,371.72)	2.1%	3.75	2.50
Wheatley Hill Parish Council	(1.2)	153.11	(183.73)	(6,783.00)	5,975.00	(991.73)	0.8%	1.26	0.84
Wingate Parish Council	43.8	150.94	6,611.17	0.00	0.00	6,611.17	(3.5%)	(5.21)	(3.47)
Bishop Middleham Parish Council	7.5	129.73	972.98	(2,448.00)	1,265.00	(210.03)	0.4%	0.49	0.33
Bradbury and The Isles Parish Council	0.9	37.42	33.68	(49.00)	13.00	(2.32)	0.1%	0.04	0.03
Chilton Town Council	16.1	236.23	3,803.30	0.00	0.00	3,803.30	(1.3%)	(3.06)	(2.04)
Cornforth Parish Council	19.6	110.33	2,162.47	(24,648.00)	19,283.00	(3,202.53)	4.8%	5.24	3.49
Eldon Parish Council	6.0	123.14	738.84	(639.00)	0.00	99.84	(0.7%)	(0.89)	(0.59)
Ferryhill Town Council	4.4	242.62	1,067.53	(143,998.00)	122,575.00	(20,355.47)	3.6%	8.70	5.80
Fishburn Parish Council	3.8	165.50	628.90	(10,241.00)	8,243.00	(1,369.10)	1.3%	2.12	1.41
Great Aycliffe Town Council	9.2	286.21	2,633.13	(172,162.00)	145,386.00	(24,142.87)	1.2%	3.49	2.33
Middridge Parish Council	47.0	66.44	3,122.68	0.00	0.00	3,122.68	(13.8%)	(9.15)	(6.10)
Mordon Parish Council	(1.5)	21.58	(32.37)	(39.00)	61.00	(10.37)	0.4%	0.09	0.06
Sedgefield Town Council	17.1	208.14	3,559.19	0.00	0.00	3,559.19	(0.8%)	(1.58)	(1.05)
Shildon Town Council	31.7	316.30	10,026.71	(52,568.00)	36,483.00	(6,058.29)	0.8%	2.40	1.60
Spennymoor Town Council	86.5	235.39	20,361.24	0.00	0.00	20,361.24	(1.3%)	(3.08)	(2.05)
Trimdon Parish Council	10.8	169.34	1,828.87	(26,888.00)	21,490.00	(3,569.13)	1.9%	3.24	2.16
Windlestone Parish Council	(2.6)	61.15	(158.99)	(351.00)	437.00	(72.99)	1.1%	0.65	0.43
Burnhope Parish Council	(7.8)	19.64	(153.19)	(475.00)	539.00	(89.19)	1.1%	0.22	0.15

Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2025/26	Band D Council Tax 2024/25	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2024/25	Element of LCTRS Grant 2025/26	Net Position After Distribution of LCTRS Grant	(Decrease) Required in Band D Council Tax to Standstill	Increase / (Decrease) in Band D Council Tax Required to Standstill	Band A Council Tax Required to Standstill
	No.	£	£	£	£	£	%	£	£
Cornsay Parish Council	3.5	62.27	217.95	(597.00)	325.00	(54.05)	0.3%	0.19	0.13
Esh Parish Council	21.4	75.80	1,622.12	0.00	0.00	1,622.12	(1.5%)	(1.10)	(0.73)
Greencroft Parish Council	2.9	42.72	123.89	(80.00)	0.00	43.89	(0.7%)	(0.29)	(0.19)
Healeyfield Parish Council	(2.4)	27.16	(65.18)	(83.00)	127.00	(21.18)	0.2%	0.04	0.03
Hedleyhope Parish Council	(0.8)	95.23	(76.18)	(190.00)	228.00	(38.18)	0.7%	0.68	0.45
Lanchester Parish Council	22.8	51.64	1,177.39	(368.00)	0.00	809.39	(1.0%)	(0.53)	(0.35)
Muggleswick Parish Council	0.8	25.86	20.69	(100.00)	68.00	(11.31)	0.9%	0.24	0.16
Satley Parish Council	(1.9)	36.20	(68.78)	0.00	59.00	(9.78)	0.2%	0.08	0.05
Stanley Town Council	46.4	113.68	5,274.75	(90,584.00)	73,160.00	(12,149.25)	1.3%	1.48	0.99
	1,633.9	9,460.9	159,749.5	(1,251,024.0)	1,001,475.0	(89,799.5)	(78.7%)	1.4	1.0
City of Durham Charter Trust	517.8	2.00	1,035.60	(5,532.00)	3,859.00	(637.40)	1.2%	0.02	0.01

160,785.11 (1,256,556.00) 1,005,334.00 (90,436.89)